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QUESTION 1

What is the appropriate use case for a cloud solution?

A. When there is a need for high-speed network connectivity
B. When legacy systems are still in use

C. When scalability and flexibility are not critical requirements
D. When there is a need for on-premises data storage

Correct Answer: A

QUESTION 2

How does Aruba ClearPass help to enable an HPE Intelligent Workspace solution?

A. It provides the engine for integrating location-based services and automating workflows.
B. It provides a developer kit for creating location-based service applications.

C. It provides identity management for users and policy-based control over loT devices.

D. It provides a repository of built-in apps, such as dynamic space scheduling.

Correct Answer: C

QUESTION 3

When collecting customer requirements for an HPE Edge-to-Cloud solution, which of the following is a key
consideration?

A. Documenting requirements in a way that is easy to understand for technical experts only
B. Gathering requirements from a single stakeholder to avoid conflicting inputs

C. Asking open-ended questions to gather as much information as possible

D. Avoiding any requirements that are difficult to implement

Correct Answer: C

QUESTION 4
What is the appropriate use case for a hybrid solution?

A. When legacy systems are no longer in use
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B. When there is a need for low-speed network connectivity
C. When scalability and flexibility are critical requirements
D. When data needs to be stored on-premises

Correct Answer: C

QUESTION 5

A customer tells you that virtualization does not provide the performance required for the company\\'s workloads. Which
benefit of HPE Hybrid IT solutions should you explain?

A. HPE lets the customer maintain workloads/applications on Dare metal white providing much of the automation and
flexibility associated with visualization.

B. HPE has found that most performance issues with virtualization arise from insufficientremote storage, and HPE has
industry leading storage solutions.

C. HPE integrates with leading visualization vendors to enhance the efficiency of the visualization layer and boost
compute there.

D. HPE has developed a proprietary virtualization technology, which can support the performance requirements of the
most demanding workloads.

Correct Answer: C
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